
Y4 – Autumn – Block 2 – Step 2 – Add up to two 4-digit numbers - no exchange Answers

Question Answer

1 836

2

a) 8,336
b) 3,336
The hundreds, tens and ones digits are the same. Only the thousands digit is different.

3

a) 6,727
b) 7,869
c) 1,279
d) 3,567

4

a) No
Tiny has not lined up the digits correctly.

b) 5,827

5 2,552 km

6 2,876

7

a)

b)

8 1,547 g

9

a) 7,557          4,554
b) One number is the reverse of the other, so the answer is the same forwards and 

backwards.
c) Children should find that the result holds for all such calculations.
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